(

)

(ng—TEQ m*N)

(m

(pg—TEQ L)

(ng—TEQ/Q)




2 3 7 B8—TeCDF 0.1
1 2 3 7 8—PeCDF 0.03
2 3 4 7 8—PeCDF 0.3
1 2 3 4 7 8—HxCDF 0.1
1 2 3 6 7 8—HxCDF 0.1
1 2 3 7 8 9—HxCDF 0.1
2 3 4 6 7 B8—HxCDF 0.1
1 2 3 4 6 7 8—HpCDF 0.01
1 2 3 4 7 8 9—HpCDF 0.01
OCDF 0.0003
Total PCDFs — —
2 3 7 8—TeCDD 1
1 2 3 7 8—PeCDD 1
1 2 3 4 7 8—HxCDD 0.1
1 2 3 6 7 8—HxCDD 0.1
1 2 3 7 8 9—HxCDD 0.1
2 3 4 6 7 B8—HpCDD 0.01
0CDD 0.0003
Total PCDDs — —
Total (PCDFs PCDDs) — —
3 4 4 5—TeCB( 81) 0.0003
3 3 4 4 —TeCB( 77) 0.0001
3 3 4 4 5—PeCB( 126) 0.1
3 3 4 4 5 5 —HxCB( 169) 0.03
2 3 4 4 5—PeCB( 123) 0.00003
2 3 4 4 5—PeCB( 118) 0.00003
2 3 3 4 4 —PeCB( 105) 0.00003
2 3 4 4 5—PeCB( 114) 0.00003
2 3 4 4 5 5 —HxCB( 167) 0.00003
2 3 3 4 4 5—HxCB( 156) 0.00003
2 3 3 4 4 5 —HxCB( 157) 0.00003
2 3 3 4 4 5 5 —HpCB( 189) 0.00003
Total PCB — —
Total — —
ng mN ng—TEQ mN
pg L( pg—TEQ L )
ng g ng—TEQ/g
2 1 4
0311 2 1 4




ng mN ng—TEQ mN
ng g ng—TEQ ¢




